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E 1. Answer all twelve questions :
' 1. You can redirect the webpage in JAVA SCRIPT using method.
2 is a built-in JavaScript function which can be used to execute another function
after a given time interval.
3. Relative path make your hypertext links
4. You can refresh the webpage in JavaScript by using method.
e is a DHTML event that fire when the user clicks the mouse.
6. JavaScript built-in function to convert string representation of numbers to integer is
7 i is best suitable for remote administration of a computer.
8. FrontPageisa
9. connects web bages.
10. is an example of search engines.
11. FTP stands for
12. is a two sided tag.

13.
14.
15.
16.
bt
18.
19:

(12 x % = 3 weightage)

II. Answer all nine questions :

What do you mean by meta data in HTML?
What is hyperlink?

Differentiate between HTML and DHTML.
List any four Windows event.

Differentiate scripting and programming.
Explain the event handling in JavaScript.
Explain the properties of style sheet.
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20. Explain the advantages and disadvantages of front page.

21.

Explain the difference between FTP and TCP.
(9 x 1 =9 weight

III. Answer any five questions :

22.
23.
24,
- 25.
26.
27.
28.

Briefly describe E-mail protocols.
What is Microsoft Front Page? What are its features?
Write an HTML code that will display a table of students name, roll number, total mark
What are the different form tags in HTML?
What are the different ways to apply CSS to HTML? Give some example.
What are the various font properties available in CSS?
Explain in detail about URL.
(5 x 2 = 10 weight

IV. Answer any two questions :

29. Write a note on Java Script data types.

30.

How can you incorporate Java Script into an HTML page ? Write an example.

31. Which is best suitable for remote administration of a computer? Explain in detail.
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